H & 0l & At H A M

HE: WS (SHLT)
el D123 (G &)
2A -3 - A(3) - MRAKY - BES Oil &bl &E& HlwsZ
S 51,072,957 48,135,804 2,937,153
= 2,917,480
as 895,000
| 18,423,239
= 3,530,399
= 25,306,839
HYSAHH (sS4 217,964 220,490 A2,526
J|2&| 198,356 201,830 A3,534
Jl2&| 48,990 49,360 A370
201 B2 3| 27,370 26,740 630
01 AtR2teld| 23,770 23,140 630
OgBte2| 10,960
0012 MEESHI 100,0002*2191 2,100
OAMRID| & EAES 7,000,000 7,000
0J|Et==2H| 1,500,000 1,500
0ExAl ADE S 72
30,0002+ 128 360
Ogx 60,0002 *101%119 7,140
O2Ad(s54t G252
9,000&*2121x304! 5,670
02 B32ZH| 3,600 3,600 0
OWRI = 300,0002* 12 3,600
202 4H| 10,800 10,800
01 =LHOHI 10,800 10,800
O&elogl(SE&28l)
180,000 x5 &+ 123 10,800
203 PRF&H| 10,820 11,820 A1,000
01 J|2A2HERFA| 3,300 3,300 0
OJ |22 ALFAIY| 3,300,0002 3,300
02 ZRAIMIARFAI| 2,320 2,320 0
O INMARFLI| 40,00024%580! 2,320
08 ARG DFAIY] 1,000 2,000 21,000
OAHFRHRFTH|( A
1,000,0002! 1,000
M4 2A2ILRFE| 4,200 4,200 0
ORMILRFEI 350,000 %12 4,200
A2 134,366 137,530 A3,164
101 2124d| 31,532 32,010 N478
04 JI2HHI22XsE 31,532 32,010 VAV:V(S]
O Ar22] 31,532
== 80,2402 %101%2612 20,943
0=t 80,2402 %101x60 4,815
0AXt=S 80,2402 %101x18 1,445




SA: s=40
Hi: HAHSHAH|(S=AL)
Etelr D23 (G & 2l)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
A2 28,404,9602%3. 545% 1,007
&I ILUEH 1,006,960 %12.95% 131
0nEZE 28,404,960 x1.75% 498
OMHEES 28,404, 9602 %1% 285
(IS ESESE== 80,2402 %101x30 2,408
201 LB 102,834 105,520 A\2,686
01 Al22t2IH| 26,676 26,676 0
ORolEH IS 820,000 %12 9,840
Oogstlz 33,0002%122 3%
ONEERX ARE S 3¢
600,000 122 7,200
OFD|OE BRI NS S48
550,000 122 6,600
OABOIMRR|HE S48
220,00024*122 2,640
02 2229 76,158 78,844 A2,686
Ot KXl 27,498
(W EIS] 1,61020%1532| E{*1 0122 2,956
038 1,470+ 1212| Ef*7CH* 122 14,942
0xt2 ARDSMH
100,000 +8CH+ 12 9,600
OAMAEHIRAHI(E22+DS) 3,460
OFAF WL MA L AS
150,000 *20CH*13] 3,000
0BAL H4X HA U AS
230,0002%23] 460
OIS (=22) 2,000, 000122 24,000
OABIAER2 (2R 100,00021% 122 1,200
OAEKXI22IHI(22)
10,000,0002*23] 20,000
LAY 29 15,000 15,000
206 M=l 15,000 15,000
01 ZHI 15,000 15,000
ORUAY 290 2 M2 7Y
1,250,000 122 15,000
REEET 19,608 18,600 1,008
BEUALO|A} G 19,608 18,600 1,008
101 o124] 19,608 18,600 1,008
02 JIEFEES 19,608 18,600 1,008
OSIEZRLH(UE)
50,00024101x 122 600
OYHSSHRZ 900,00024%101x 1224 10.800
OAlZte|2R245
12,0002 % 1Q1x57 Al 2H 128 8,208
N 36,566,889 35,361,205 1,205,684
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SN

HH: =ZE=SNSE L BYory
Bl SYASTRAY (SSLTIISSE3) (Crel: &)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
= 945,017
| 17,776,174
== 2,143,848
= 15,701,850
SYUCIASSH L MEOHEIIA 8,128,029 8,073,478 54,551
= 47,987
| 154,331
= 1,614,023
= 6,311,683
2N o sSAME =& 52,320 66,960 214,640
201 B2 Y| 21,320 21,560 A240
01 AtR2teld| 21,320 21,560 A240
O=AILAHEN L AISHEA Ol
1,200@4*1,0000H 1,200
OAE S 24 1,200 *3002+23] 720
O=SAAEAIZAOIG] BM4E
100,00024%2901%23] 5,800
OAE(=HAIHGREX)
9,000 *591x804 3,600
O=S42 B 2450 Yot 6 89
10,000,000& 10,000
202 0{b| 12,000 14,400 A2,400
01 =2LHOHI 12,000 14,400 A2,400
SHARFX 200,000 x501% 122 12,000
203 PRF&H| 3,000 3,000
03 AIBFRIHRFAIH| 3,000 3,000
OSFAAM HR2FE 3,000,000 3,000
301 Ler8d3 1,000 1,000
11 HARHIXIES 1,000 1,000
O=YoIA( WS) &4
50,000 *209! 1,000
307 SI2H01 A 15,000 27,000 A12,000
02 QIZHBAAIHE X 15,000 27,000 A12,000
Os8)| =&Y XA 15,000,000 15,000
Xo|S22IXIZAIS 220,550 220,474 76
| 154,331
= 66,219
101 2124d| 173,624 170,5% 3,028
| 121,483
= 52,141
04 J12HI2Z2 RS E 173,624 170,5% 3,028
OZXARR 2124d| 173,624
(== 80, 2402%1201%1322! 127,101
| 88,970
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SN
X XH -
(e
eel:

HEE

S - ZH - SRl(B) - HIRA - BE= Ojl b Siion HImS2

= 38, 131
O=xt=g 80,2402 %1201x24 23,110
| 16,177
= 6,933
0AX == 80,2402 %1201x6 5,778
| 4,045
= 1,733
0=2%= 155,986, 56024 .5% 7,020
| 4,914
= 2,106
0AYEE 155,986, 5602%3. 545% 5,530
| 3,871
= 1,659
BIIREE 5,529, 7202%12.95% 717
| 508
= 214
=Lk 155,986, 56024% 1.8% 2,808
| 1,911
= 897
M HEE 155,985, 5602 %1% 1,560
| 1,092
= 468

201 B2 3| 46,926 49,878 A2,952
| 32,848
= 14,078

01 AtR2teld| 46,926 49,878 A2,952
OZAME ANRES 72 46,926,0002! 46,926
| 32,848
= 14,078

=20l Moot sHE K& 401,864 401,864 0
= 87,907
= 313,957

307 SI2H01 A 401,864 401,864 0
= 87,907
= 313,957

06 282 401,864 401,864 0
ORIt NS HE 401,864,000 401,864
= 87,907
= 313,957

sE2ZFN SHXS(MREESHIXIH) 118,699 153,320 A34,621
= 20,195
= 98,504

307 2I2H0| ™ 118,699 153,320 A34,621
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SH: EEA
FH - [— =< X
g—g zgiiggffigégm% (G &)
S - FE - SRI(SH) - MISARS - BaS ot des HIDS2
= 20,195
iy 98,504
02 QIZHEMAMSE X 118,699 153,320 N34,621
OX}t sl 2|(ald}
NS BN e romon man 118,69
== 20,195
iy 98,504
SE2AZFH S (MEHNMES JIIXIH) 9,000 9,000 0
= 5,737
== 861
o 2,402
307 212+01™ 9,000 9,000 0
= 5,737
== 861
= 2,402
EIEIEPONCEEES 9,000 9,000 0
SENHEA0IS PEIIY XR
10,000, 0002 *90% 9,000
= 5,737
== 861
iy 2,402
MEoseld us X 2,400 2,160 240
= 750
= 450
iy 1,200
307 212+01™ 2,400 2,160 240
= 750
= 450
iy 1,200
02 DIZHEAMASE X 2,400 2,160 240
e o o
OMEl0E 2l e X 500,000 10} e 2 400
= 750
= 450
iy 1,200
SULESHAIE XA 2,100,000 2,000,000 100,000
402 BI2FRHE0| M 2,100,000 2,000,000 100,000
01 QIZHXIE2AIE B X (KHMIAHS) 2,100,000 2,000,000 100,000
= == o4
JEEAREE 5,000, 000420747 2,100,000
StSAHII| & H2YsSAlE XId 800,000 800,000
402 BI2FRHE0|M 800,000 800,000
01 QIZHXIE2AIE S X (AHMITHS) 800,000 800,000
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SM: sEa
HM: SE2IZE L YA
oPlr SHOIASEN X MEE R (CH: M)
2A -3 - A(3) - MRAKY - BES Oil &k &E& Hns2
Osa2AX)| & HeMEAIE X
800,000,000 800,000
s Yelag X 3,726,4% 3,725,400 1,096
< 1,490,160
2 2,236,336
101 Q124 63,3% 62,300 1,096
< 24,920
2 38,476
04 JIZHHIZ22 IS E4 63,3% 62,300 1,096
Oso0fgiolact &2 JI2HHI22 X 0124| 63,3%
WES 80,24021%1101%55 48,546
< 19,089
2 29,457
0= Rt4gt 80,24021% 110149 7,944
< 3,124
2 4,820
0= 56,488,960 %4 . 5% 2,543
< 1,000
2 1,543
022 56,488,960 %3 545% 2,003
< 788
2 1,215
0&IRYEE 2,002,530 %12.95% 260
< 101
2 159
0NEZE 56,488,960 2*1.75% 989
< 389
2 600
0AHTHE 56,488, 9602 %1% 565
< 202
2 343
(EE=HAE 546,0002 546
< 207
2 339
201 LEH2 A 5,500 5,500 0
< 2,200
2 3,300
01 At22t2|H 5,500 5,500 0
OYsalos FHMLg
100,000 %5011 1JH S 5,500
< 2,200
2 3,300
301 LEEAS 3,657,600 3,657,600 0
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SA: ==A
M SESNSE L HAUOHH
oPlr SHOIASEN X MEE R (CH: M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
C 1,463,040
= 2,194,560
14 B2 A2 3,657,600 3,657,600 0
Osofgolsg X2
300,0002%12, 1929! 3,657,600
[ 1,463,040
= 2,194,560
=123 2 169,000 279,000 110,000
201 LBr29y| 169,000 279,000 110,000
01 Al2Ztelt] 169,000 279,000 110,000
OSXABI =AY
100,00021%1021% 11 Ax143] 154,000
OgetE3| 1,000,000 *11IHA 11,000
OLXEIIH 1,000,0002 43| 4,000
EENERENEIS 110,000 117,500 7,500
2 40,000
[ 12,000
= 58,000
307 21201 & 110,000 117,500 7,500
2 40,000
[ 12,000
= 58,000
02 DIRIEAAIIE X 110,000 117,500 7,500
OsZ0H=IME 29 X 110,000
0sEIHBHME 2Z 80,000,0002! 80,000
2 40,000
[ 12,000
= 28,000
0 Z0IZZINMIES XIRI(KIKHHIE 2 AM)
50,000, 0002 *60% 30,000
SEXEEHSANE (S0EVUL MUIAGHDS) 3,000 3,000 0
2 1,500
[ 450
= 1,050
307 21201 & 3,000 3,000 0
2 1,500
[ 450
= 1,050
12 QI2IOIRIE S| 3,000 3,000 0
OSE0ISAHIA OHEDS
10,00024%3007H & 3,000
2 1,500
[ 450
= 1,050
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110,000
14,700
14,700
14,700

1,261,730
940
940
940

260,000
355,040
5,640
2,940
2,700
9,600
9,600
339,800
3,000
336,800

22,279,153

370,000
370,000
2,000
368,000
14,700
14,700
14,700
14,700
6,580
3,880
1,000
2,880
2,700
2,700
9,600
9,600
9,600
339,800
3,000
3,000
336,800

23,540,883

598,930
16,172,881

330,748
355,980

6,438,324

Il
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370,000,002

7,000, 0002453l A#70%
100,0002410

9,0002/+401+80A!

3,00024+9002!

200,002 #4201+ 122

50,000246021

Ol SEHEAE
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al
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=)
H W WH
o
o
S
O g
X0 S
Al .
. Rr
MM =
< O
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M = 0
= .
Rl ~ R
ol = =
adml o |z S
| = |z o
0 5K m_n i — =
|__AD vl D (D yr
=1 I L 80 (30 =
ATO] B 0p |op =)
kourl mo U sl e I
AR e i ol |70 m =
AR J — = M
wwpen| X mo SH =
Jom K| |5
TE O
IF %0 U




1)

i)

A5,000
N27,000
N27,000

22,000
22,000
50,000
50,000

(CHo: A
A115,662

115,662

115,662

379,050
379,050
379,050

160,000
160,000
160,000
30,000
30,000

219,788

MU
Ofl &kl

219,788

219,788

336,800
379,050
379,050
379,050
105,000
274,050
160,000
160,000
160,000
160,000
75,000
3,000
3,000
3,000
22,000
22,000
22,000
50,000
50,000
50,000
104,126

Ofl &kl

By

20,826
83,300

104,126

H

By

20,826
83,300

104,126

H

104,126

By

20,826
83,300

1,055,125

H

=l

274,050,000
160,000,000
22,000,000
50,000,000&

- HAS
336,800,000

300,000 *700ha*50%
50,000& *3021%2

o

2|

=

- HISAH

Jb REEHl A

1(31A)
o1

(o]
Tl

+

—
o
[uind

=

[=)

. g
2|
|.

|

A=01&

F

L
S XX
|

14 J|Et
307 212t01&

308 At

SA

A=01&

F

148,751,000 *70%

t

[uind

2A

N

184,175

4,850
4,850

870,950

200
200
200

4,850
4,850
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2M sS4
HH: =ZE=SNSE L BYory
&P MEAsSUASHLSAHRIAEEN (CH]: X 21)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
OBNYSs & & 30uUs A2
50,000 %659 3,250
Osgol(HH)ns Y Hs &4
40,00024%400! 1,600
307 SI2H0| A 5,000 5,000
04 QIZHHAIAIRI S & 5,000 5,000
O/HEDBIEI =N X
5,000,000 13| 5,000
402 BIZHRHE01 A 1,045,075 860,900 184,175
01 QI2EXIEAIE S A (KHMITHE) 1,045,075 860,900 184,175
OuldI=Atel &xl 8,000,000 %1 A 8,000
OREAaE B3 XI&
7,000 %37 .55+ 1,500na*90% 364,375
OS2I A 1,65021%300AHKF+1,300ha 643,500
ONEE L IS & MAX A
800, 000 & +70ha*70% 39,200
MMAS ASCOHESE X2 A 3,000 180,000 A177,000
301 LetEEZ 3,000 3,000 0
11 HARHIXIRES 3,000 3,000 0
Od&X HlwAst &AM
20,000&*1509! 3,000
B Kot =288 A 80,000 80,000
402 BIZHRHE01 A 80,000 80,000
01 QI2EXHEAISE S T (KX ) 80,000 80,000
O I8 & XA (X KMIE AL
&) 80,000,000& 80,000
B golis s&e X2 285,500 285,500
307 SI2H01 A 285,500 285,500
02 QIRHEAAII S 285,500 285,500
B R4 Ml X2 A (KIXHIE AL
=) 285,500,000 285,500
B =sItE ZetE Xt= 1,395,000 1,853,500 A458,500
= 139,500
= 1,255,500
301 LetEE= 1,395,000 1,853,500 A458,500
= 139,500
= 1,255,500
14 J|Et2 432 1,395,000 1,853,500 A458,500
OH M=ot BFetEX=a
1,395,000,000& 1,395,000
= 139,500
= 1,255,500
SAXSHBEZH| 72,881 71,600 1,281
| 72,881
101 2124d| 46,845 45,564 1,281

- 784 -




SEAY
SESXSE 2 oy
B A=A HUSAASHA 2l
SH - BB S2I(3) - KIRA - BE= Ol st ChE 2
J| 46,845
M IIH2Z2NEES 46,845 45,564 1,281
OXERM AREX(1121) 46,845
0o1=2= 80,2402%1101x39 34,423
p) 34,423
(IESNES= 80,2402 %1101x8 7,062
p) 7,062
0=2%= 46,111,000 %4 . 5% 2,075
p) 2,075
0HEES 46,111,0002%3.545% 1,635
p) 1,635
0&IRYEE 1,635,0002%12.95% 212
J| 212
0NEEE 46,111,000 1.75% 807
p) 807
0ATHEH 46,111,000 %1% 462
p) 462
0PEZ Ha S 169,000 169
p) 169
201 LBH2AH| 25,736 25,736 0
p) 25,736
01 At22t2IH] 18,236 18,236 0
OaA2EI2Y L UBtA)
18,236,0002! 18,236
p) 18,236
02 2229 7,500 7,500 0
OHEM =& RERZF 7,500,000 7,500
p) 7,500
202 O4H| 300 300 0
p) 300
ENEE 300 300 0
OS2 =M FRF& 300,0002! 300
p) 300
JI2E ZAXNFXSAIY 16,100,000 16,100,000 0
p) 16,100,000
301 LBEAS 16,100,000 16,100,000 0
p) 16,100,000
14 J|EtB A 16,100,000 16,100,000 0
OJ|28 IAXFISA
16, 100,000,000 16,100,000
J| 16,100,000
= EI=E2 THHHXI 773,300 772,907 393
o= 4,800
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SN =S4
HM: SE2TSX L HHOHE
o M EsEREESHUASEN CEREE)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
=z 768,500
101 oI2AH] 23,300 22,907 393
04 JZHH2EEES 23,300 22,907 393
O=EIZSTHIIXIZ 034 E A 23,300
0ole= 80,2402 %101x207 16,610
0FXt=g 80,2402 %101x45 3,611
0L Rp4-gt 80,2402 % 101%92 723
0=pici=2 20,941,00024+4. 5% 943
0HZ2E= 20,941,0002!%3. 544% 743
0ZIIQYZEZ 743,00024%12 . 95% 97
onELEs 20,941,000&%1.75% 367
OMTHEE = 20,589,000 %1% 206
301 LBIEAS 750,000 750,000 0
[= 4,800
z 745,200
14 JIEtZ a2 750,000 750,000 0
O= EtX=THHH XI& 3,000, 00024%250ha 750,000
[= 4,800
z 745,200
EA B =2 22Dz E2AY 5,000 5,307 A307
= 3,500
[= 1,500
201 LB 5,000 5,307 A307
= 3,500
== 1,500
01 AFRZH2lH] 5,000 5,307 A307
OMEA B =2 2Dz 1S L =24
5,000,000 5,000
= 3,500
= 1,500
ESAMEASEMRESD 15,000 15,000 0
= 3,000
z 12,000
301 LBEEZ 15,000 15,000 0
= 3,000
z 12,000
14 JIEIZ A2 15,000 15,000 0
OES=sHSEENMAME 15,000,000 15,000
= 3,000
z 12,000
B S2F &1 1,610,750 0 1,610,750
= 25,000
z 1,585,750
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SN SEMD
B SESTIST U PYoH
£el: HEEssdsHUASEN (el &)
SA - B O9(3) - NIRAR - BaS Ol &b e e
402 SIZERH20| A 1,610,750 0 1,610,750
= 25,000
= 1,585,750
02 QIFXHEAISEE (01X ) 1,610,750 0 1,610,750
OSQE HE(201A) L AS(10L)
3,221,500, 000& *50% 1,610,750
= 25,000
= 1,585,750
NEZE E=THEHEX] 24 XI& 42,000 140,000 98,000
= 6,000
= 36,000
402 SIZERH20| A 42,000 140,000 98,000
= 6,000
= 36,000
02 QIEXHEAIEE (01X ) 42,000 140,000 98,000
O1NZFE &= MUK =&
60,000, 0002 *70% 42,000
= 6,000
= 36,000
IS4 MACHT] SE A 496,620 27,000 469,620
= 275,900
= 66,216
= 154,504
307 212t0| ™ 54,000 27,000 27,000
= 30,000
= 7,200
= 16,800
02 QIZHAAAIHE X 54,000 27,000 27,000
OIIZMMACHTIT AR (DS, HEE)
60,000, 0002 *90% 54,000
= 30,000
== 7,200
= 16,800
402 SIZERHE01 A 442,620 0 442,620
= 245,900
== 59,016
= 137,704
02 QI2FXHEAISEE (01X ) 442,620 0 442,620
OII2AMAMATI TG AS (AL, EHI)
491,800,000 *90% 442,620
= 245,900
== 59,016
= 137,704
Bl JIASHE XIFAH 532,551 532,551 0
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FA: sHAHL
M SE=T=F Y A0
o A EsUSHASHUASEN (CH: M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
= 319,530
< 63,906
= 149,115
402 BI2tA=01H 532,551 532,551 0
= 319,530
< 63,906
= 149,115
02 RIZHHEAIE 2 (01 ETHR) 532,551 532,551 0
OSIITHIZ JIRIEE U +30HE Arg)
532,551,000& 532,551
= 319,530
< 63,906
= 149,115
B SHFHASHULSEN 4,897,977 5,008,574 110,597
= 298,100
) 1,448,962
& 199,077
= 2,951,838
adgs J2ue =8 A 10,080 10,250 AT170
& 2,016
= 8,064
201 et=3| 10,080 10,250 AT170
& 2,016
= 8,064
01 Attt 10,080 10,250 AT70
ONgs 202 5= KM
10,080,000& 10,080
& 2,016
= 8,064
HdENSAES ATAY 1,188,962 1,172,000 16,962
p) 1,188,962
301 B2 NS 1,188,962 1,172,000 16,962
pJ 1,188,962
14 JIEt2d= 1,188,962 1,172,000 16,962
Odxx=8=3 AL
1,188,962,000& 1,188,962
) 1,188,962
s EsHA=E 260,000 260,000 0
pJ 260,000
301 B2 NS 260,000 260,000 0
p) 260,000
14 JIEt2d= 260,000 260,000 0
OzSE=e MEXIS A (740ha)
260,000,000& 260,000
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2A:
R{ZH
[== R NS

o
ool

[ Ol OfF
o
oY it rz
o A &
[ 0l

0
I 09
ere

k- 02

==X
=

!

4l

hl w
O 0

HorA
0x
=

S - ZB - SR(BH) - NRA - BES

Ojl st

MU
Ofl &kl

260,000

o]
o
o
o
>
o
i
EH
0
I
A
x
~
0

M H1

27,493
8,248
19,245

22,810

M H1

27,493
8,248
19,245

22,810

> 0
o
Pa
N
ojH
Jo
10
0x
p
{0
=
Q

27,493,000

M H

27,493

27,493
8,248
19,245

22,810

H 1

14,400
2,880
11,520

A3,600

H 1

14,400
2,880
11,520

A3,600

10,000 &% 12021128

o H

14,400

14,400
2,880
11,520

A3,600

=) s A AL

EUN AT

274,000
68,500
30,825

174,675

274,000

S
e
N

NGRS

H oW

274,000
68,500
30,825

174,675

274,000
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SN

Tu: melsE s 33
ctel: MREsSE 3 ASHE 23 (Cre: ®2l)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
| = 25,200
FH2Ms sAl Slis KEAY 8,000 8,000 0
< 2,000
= 6,000
307 el2to| & 8,000 8,000 0
< 2,000
= 6,000
02 YA LSAHE XL 8,000 8,000 0
OHESIN s =X A2
1,000, 0002 *10ha*80% 8,000
< 2,000
= 6,000
=gl s&Y Hogdl X 52,500 35,000 17,500
< 15,000
= 37,500
402 2IZ2HX=01 S 52,500 35,000 17,500
< 15,000
= 37,500
02 RIZHHEAE 2 (0™ THR) 52,500 35,000 17,500
Osgol s&y Holgdl Na
500,000 *150CH*70% 52,500
& 15,000
= 37,500
SESSAHIAZEE XZA 66,000 66,000 0
= 46,200
& 5,940
= 13,860
307 el2to|d 66,000 66,000 0
= 46,200
& 5,940
= 13,860
02 UABSAIAE X 66,000 66,000 0
OsEssSAtlAgdst X
66,000,000 *1JH A 66,000
= 46,200
& 5,940
= 13,860
SO0 XEA 30,983 26,775 4,208
& 7,290
= 23,693
301 B2 NS 30,983 26,775 4,208
S 7,290
= 23,693
02 MBIEHEHS(FHAAS, KLIHA) 30,983 26,775 4,208
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2A:

Tu: melsE s 33
=P MEASE 2 ASHE 283! (CH: M)
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
O=)t=20] A
81,00024+90 2 +521%85% 30,983
[ 7,290
= 23,693
A0l ZAHIRH KA 43,200 36,000 7.200
301 LerEAZ 43,200 36,000 7.200
02 ANBIEERIG2(FAAS, NLHH) 43,200 36,000 7.200
O0M S0l SAHIRH XIRALY
800,0002x601+02 43,200
A=Yl BIRH XA 620,000 600,000 20,000
[ 186,000
= 434,000
301 LerEAZ 620,000 600,000 20,000
[ 186,000
= 434,000
14 BB A2 620,000 600,000 20,000
O0M =0l H2X X
200,0002%3, 1009! 620,000
[ 186,000
= 434,000
QZ0I2Z2X} 22HO! XA 119, 144 48,000 71,144
[ 17,628
= 101,516
101 2124d] 40,490 40,490
02 JIER B 40,490 40,490
07202 AlZHIEH R HI(LDIKI9Z)
27,736,0002% 12! 27,736
@Fnigec =) 167,250 % 1221% 101 2,007
OxW224Y
10,03021%36AI12H128% 10! 4,333
OSE4TR4EH(AIZHIEH I 4L)
110,94421%122%10! 1,332
OJIE+=< (<X 40,000 *12% 101 480
OB (IIEPIE)
30,0002 *122% 10! 360
OFAH=AHI 140, 0002% 12 1,680
OQIHEAH| 7,9512x91AI12H10! 724
OXZEXHIIZ MY
153, 12021% 122% 10! 1,838
201 2B | 27.360 8,000 19,360
[ 7.128
iy 20,232
01 AlRZtelt] 27.360 8,000 19,360
OQZOIHE22X 0|SIEH
1,320,0002+183] 23,760
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SN

Tu: melsE s 33
&?He: MEsSE 2 ASHE =83 (SH: M2
S - ZB - SR(BH) - NRA - BES Ol st ChE HmE=S
= 7,128
= 16,632
OQAZQIHEIZ2T UE= XY 2|
300,00024123] 3,600
301 LeE A= 49,000 40,000 9,000
[ 10,500
= 38,500
14 J|Et2 A2 49,000 40,000 9,000
=oISE g N
30,0002%3009! 9,000
[ 2,700
= 6,300
ODttdAL HIE XA 20,0002 *3009! 6,000
[ 1,800
= 4,200
oAL(eB), AHEEZ XA
200,0002 100! 20,000
[ 1,800
= 18,200
oMY= =& 228 9= =2z N
200,0002%709! 14,000
[ 4,200
= 9,800
04 AZREHES 2,294 2,294
02 =2eRALEE 1,59 1,59
O=pIAAEE 2u2
39,848,0002%3. 545 191 1,413
OLQIE)|QUEE 2u2
1,413,0002%12. 954+ 191 183
M 2RE(PIHL) 22K BEERUE S 698 0 698
OlEE8s 39,848,0002 1. 75%* 101 698
Q=01 HE2ZX} JI=Al g 1,175,000 0 1,175,000
2 337,500
[ 67,500
= 770,000
401 AIEZHIL =00 1,175,000 0 1,175,000
2 337,500
[ 67,500
= 770,000
01 Al&H] 1,152,100 0 1,152,100
O=Y 22X JIZAL ASBA
1,152,100,000 1,152,100
2 326,050
[ 65,210
= 760,840
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SA: SFAHY

Hu: MYlsE w25 7
&?He: MEsSE 2 ASHE =83 (SH: M2
SA - BB BRI(3) - IRAY - BES ofleso e HIDE
02 Zcltl 19,900 0 19,900
s 22X DAL ABSAH Zel
19,900,000& 19,900
= 9,950
& 1,990
= 7,960
03 AIE=20HH 3,000 0 3,000
s 22X JI=AL B SAH 20l
3,000,000& 3,000
= 1,500
S 300
= 1,200
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HOE O & AFS S Al A
202548 =20 )
=
=7
=S JI2SE3H) 2| XM2l)
S - ZE - SI(E) - KISA - BES Ofl st ChE 2t
S=A 4,020,000 4,020,000 0
sESXSH 4,020,000 4,000,000 20,000
SHASKXA JI3SE3H) 4,020,000 4,000,000 20,000
SHALSS 4,000,000 4,000,000 0
5018 4,000,000 4,000,000 0
018l 4,000,000 4,000,000 0
&3 SAKIEALY
4,000,000,000& 4,000,000
ollg1g| 20,000 20,000
80 20,000 20,000
0 20,000 20,000
KHAKY Ol 1]
20,000,000& 20,000
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